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Q1. Estimate the length of the given function on the 

given interval. 𝑓(𝑥) = cos 𝑥 ,     0 < 𝑥 < 𝜋2 , 𝑛 = 2 

𝑛 قدر طول القوس للدالة المعطاة على المجال المعطى حيث ان عدد التقسيمات   = 2 

A 

1.5 

B 

1.55 

C 

2.5 

D 

1.89 

Q2. Find the limit of the following function: lim𝑥→2 𝑥 − 2𝑥2 − 4 =? 

 اوجد نهاية الدالة التالية: 

A 14 

B 12 

C 13 

D 

0 

Q3. Find the limit of the following function: lim𝑥→3 3𝑥 − 9𝑥2 − 5𝑥 + 6 =? 

 اوجد نهاية الدالة التالية: 

A 

3 

B 13 

C 

2 

D 12 

Q4. Find the limit of the following function: lim𝑥→0 𝑥2 + 𝑥sin 𝑥 =? 

 اوجد نهاية الدالة التالية: 

A 

DNE( .مغ  ) 

 

B 

0 

C 

2 

D 

1 

Q.5 Find the limit of the following function: lim𝑥→−1+ |𝑥 + 1|𝑥2 − 1 =? 

 اوجد نهاية الدالة التالية: 

A − 12 

B 12 

C − 13 

D 

DNE(غ.م) 
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Q6. Find the limit of the following function: lim𝑥→−2 𝑥 − 2|𝑥 − 2| =? 

 اوجد نهاية الدالة التالية: 

A 

1 

B 

-1 

C 

0 

D 

DNE(غ.م) 

 

Q7. Find the limit of the following function: lim𝑥→𝜋 sin 𝑥𝑥 =? 

 اوجد نهاية الدالة التالية: 

A 

0 

B 

1 

C 

DNE(غ.م) 

 

D ∞ 

Q8. 

Find the limit of the following function: lim𝑥→1 𝑥 − 1√𝑥 − 1 =? 

 اوجد نهاية الدالة التالية: 

A 

1 

B 

2 

C 

3 

D 12 

Q9.Evaluate the following limit: lim𝑥→𝑜+ √1 − cos 𝑥𝑥 =? 

 اوجد نهاية الدالة التالية: 

A √22  

B 

2 

C 12 

D 

0 

Q.10 Evaluate the following limit: lim𝑥→0 𝑥𝑒−2𝑥+1𝑥2 + 𝑥 =? 

الدالة التالية: اوجد نهاية   

A 

1 

B 

0 

C 

e 

D 1𝑒 
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Q11. Evaluate the following limit: lim𝑥→0+(1 + 𝑥)1𝑥 =? 

 اوجد نهاية الدالة التالية: 

A 

e 

B 

2 

C 

0 

D 

DNE(غ.م) 

 

Q12. 

 lim𝑥→0 𝑇(𝑥) = 0 and lim𝑥→20,000 𝑇(𝑥) exists. 

  الولاية  في الدخل  ضريبة  قانون أن لنفترض
هي  الضريبية المسؤولية  أن على ينص  

  الأرباح من دولار  20000  أول على  12٪
على ٪ 16 و  للضريبة الخاضعة   

الضريبة لدالة  وب  أ  الثوابت أوجد . الباقي  lim𝑥→0 𝑇(𝑥) = 0 lim𝑥→20,000 𝑇(𝑥)  موجودة 

A 𝑎 = 0, 𝑏 = 240 

B 𝑎 = 1, 𝑏 = 2400 

C 𝑎 = 0, 𝑏 = 2400 

D 𝑎 = 240, 𝑏 = 0 

Q13.Determine the intervals on which 𝑓(𝑥) is continuous. 𝑓(𝑥) = sin−1(𝑥 + 2) 

𝑓(𝑥) حدد مجال اتصال الدالة التالية  = sin−1(𝑥 + 2) 

A 

 

[-3,-1] 

B 

 

(-3,-1) 

C 

 

[-3,-1) 

D 

 

[-3,-∞) 

Q.14 Determine the intervals on which 𝑓(𝑥) is continuous. 𝑓(𝑥) = √𝑥 + 1 + 𝑒𝑥𝑥2 − 2  

اتصال الدالة التالية حدد مجال    𝑓(𝑥) 

A 

[-1,2] 

B 

[-1,∞) 

C 

[-1,√2)∪ (√2, ∞) 

D (2, ∞) 
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Q15. Determine the intervals on which 𝑓(𝑥) is continuous. 𝑓(𝑥) = ln (sin 𝑥) 

 𝑓(𝑥) حدد مجال اتصال الدالة التالية 

A 

[0,𝜋] B 

(0,
𝜋2) 

C 

(0,𝜋) 

D 

[0,∞) 

Q16. Determine the intervals on which 𝑓(𝑥) is continuous. 𝑓(𝑥) = ln (𝑥2 − 1)√𝑥2 − 2𝑥  

 𝑓(𝑥) حدد مجال اتصال الدالة التالية 

A 

[-1,1] 

B 

(−∞,-1)∪ (2, ∞) 

C 

[0,2] 

D 

(-1,1)∪ (0,2) 

Q17.

 

  ينص الولاية  في  الدخل  ضريبة  قانون أن  افترض
الضريبي الالتزام على  

للضريبة الخاضع الدخل  من دولار  x على  

ثابت  أوجد  c مستمرة  الدالة  هذه  يجعل الذي  

 .x للجميع

A 

2100 

B 

-600 

C 

-700 

D 

1400 

Q18. Determine all horizontal asymptotes for the given function. 𝑓(𝑥) = 𝑥4 − 𝑥2 

 حدد جميع المقاربات الافقية للدالة المعطاة 

A 𝑦 = 0 

B 𝑥 = 0 

C 𝑦 = −2 

D 𝑥 = −2 
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Q19.  

A 

-1 and 0 

B 

-1 and 1 

C 

-3 and -2 

D 

0 and 1 

Q.20 

 

A 

-1.25 

B 

-1.125 

C 

-1.5 

D 

1.25 

التنصيف حيث تم انجاز الخطوة الاولى قدر صفر الدالة من خلال انجاز الخطوة الثانيةباستخدام طريقة   
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Q21.Determine the value of a and b that make the given 

function continuous. 

 

 حدد قيم الثوابت أ و ب اللتان تجعلان الدالة المعطاة متصلة. 

A 𝑎 = 32 , 𝑏 = 𝑙𝑛43  

B 𝑎 = 32 , 𝑏 = 𝑙𝑛4 

C 𝑎 = 3, 𝑏 = 43 

D 𝑎 = 34 , 𝑏 = 𝑙𝑛43  

Q22. Determine all horizontal asymptotes for the given 

function. 𝑓(𝑥) = 𝑥24 − 𝑥2 

 حدد جميع المقاربات الافقية للدالة المعطاة 

A 𝑦 = ±2 

B 𝑥 = ±2 

C 𝑥 = −1 

D 𝑦 = −1 

Q23. Determine all vertical asymptotes for the given 

function. 𝑓(𝑥) = 𝑥3𝑥2 + 𝑥 − 4 

 حدد جميع المقاربات الرأسية للدالة المعطاة. 

A 𝑦 = 1.56 , 𝑦 = −2.56 

B 𝑥 = 1, 𝑥 = 2 

C 𝑥 = 1.56 , 𝑥 = −2.56 

D 𝑦 = 1, 𝑦 = 2 

Q24. Determine all vertical asymptotes for the given 

function. 𝑓(𝑥) = ln (1 − cos 𝑥) 

 

للدالة المعطاة  الراسيةحدد جميع المقاربات   

A 𝑦 = ±2𝑛𝜋, 𝑛 = 0,1, … 

B 𝑦 = 2𝑛𝜋, 𝑛 = 0,1, … 

C 𝑥 = ±2𝑛𝜋, 𝑛 = 0,1, … 

D 𝑥 = −2𝑛𝜋, 𝑛 = 0,1, … 

Q.25  Determine all horizontal asymptotes for the given 

function. 𝑓(𝑥) = 4 tan−1 𝑥 − 1 

 حدد جميع المقاربات الافقية للدالة المعطاة 

A 𝑦 = 5, 𝑦 = −7 

B 𝑥 = 5, 𝑥 = −7 

C 𝑥 = 0, 𝑥 = 4.8 

D 𝑦 = 4.8, 𝑦 = −6.8 
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Q26. 

 

معطاة   معين حيوان  عين بؤبؤ حجم  أن  افترض
 𝑓(𝑥)(mm)بدالة  

 . بؤبؤ العين على  الضوء شدة  هي x حيث

كانت  إذا  𝑓(𝑋) = 80𝑥−0.3 + 602𝑥−0.3 + 5     
 

الضوء من نهائية لا  بكمية العين بؤبؤ حجم اوجد   . 

A 

13 

B 

12 

C 

11 

D 

40 

Q27.

 

الولادة  من أيام  بعد صغير  حيوان طول  أن  ترضفا  

 h (t) = 300 هو

الحيوان  طول  هو ما( أ  

الولادة؟  عند  

أي)  للحيوان النهائي الطول  هو  ما( ب  

مثل  الطول  t → ∞) ؟ 

A 

At birth h(0)=30 

At eventual length h(∞) = 300 

B 

At birth h(0)=300 

At eventual length h(∞) = 30 

C 

At birth h(0)=300 

At eventual length 

h(∞) = 0 

D 

At birth h(0)=3 

At eventual 

length h(∞) = 1 

Q28. Find the following limit from the given graph. lim𝑥→0+ 𝑓(𝑥) =? 

 

 

 

 

 

 

 

 

 اوجد نهاية الدالة المعطاة من الرسم البياني المعطى 

A 

2 

B 

-2 

C 

DNE(غ.م) 

D 

0 
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Q29. Find the following limit from the given graph. lim𝑥→0 𝑓(𝑥) =? 

 

 

نهاية الدالة المعطاة من الرسم البياني المعطى اوجد   

A 

1 

B 

-1 

C 

0 

D 

DNE(غ.م) 

Q30. Which of the following does not represent 𝑓′(−2)   اً من التعابير التالية لا تمثل  أي𝑓′(−2) 

A lim𝑥→−2 𝑓(𝑥) − 𝑓(−2)𝑥 + 2  

B lim𝑥→−2 𝑓(−2) − 𝑓(𝑥)−2 − 𝑥  

C limℎ→0 𝑓(ℎ − 2) − 𝑓(−2)ℎ  

D lim𝑥→−2 𝑓(𝑥) − 𝑓(−2)𝑥 − 2  

Q31. Find the following limit from the given graph. lim𝑥→4 𝑓(𝑥) =? 

 

lim𝑥→4 اوجد نهاية الدالة المعطاة من الرسم البياني المعطى  𝑓(𝑥) =? 

 

A 

-2 

B 

1.5 

C 

3 

D 

DNE(غ.م) 
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Q32. Which of the following represents the acceleration of 

the object at t=2, where s(t) represents the position 

function. 

ً أي  𝑡عند   مما يلي يمثل تسارع الجسم  ا =       𝑆(𝑡)  ، حيث يمثل 2
 تمثل دالة الموقع. 

A lim𝑥→2 𝑆′(𝑥) − 𝑆′(2)𝑥 − 2  

 

B lim𝑥→2 𝑆(𝑥) − 𝑆(2)𝑥 − 2  

 

C lim𝑥→2 𝑆′(𝑥) − 𝑆′(2)𝑥 + 2  

 

D lim𝑥→2 𝑆(𝑥) − 𝑆(2)2 − 𝑥  

 

Q33.Which of the following represent the slope of the secant 

line for the given function between 𝑥1𝑎𝑛𝑑 𝑥2? 𝑓(𝑥) = 𝑒𝑥 , 𝑥 = 1, 𝑥 = 2 

ً ي أ 𝑓(𝑥) ؟ x2و   x1بين  القاطع للدالة المعطاةمما يلي يمثل ميل خط  ا = 𝑒𝑥, 𝑥 = 1, 𝑥 = 2 

A 𝑒(𝑒 − 1) 

B 𝑒2 − 1 

C 𝑒 − 𝑒2 

D 𝑒2 + 1 

Q34.  

 

 يوضح الجدول درجة حرارة التجمد للماء بالدرجات 
يل خط المماس عندمئوية تحت ضغوط مختلفة. قدر م  

. p = 1 

A 

10 

B 

-10 

C 

-7 

D 

7 

Q35. 

Find all points at which the slope of the tangent line to 

y = 𝑥3+ 3x + 1 equals 5. 

للدالة المعطاة  عندها ميل خط المماس أوجد جميع النقاط التي   

5يساوي   . 

A ± √63  

B ± √23  

C ∓√34 

D ∓√32 

Q.36  Find the value of x such that the tangent lines to 

 y = 𝑥2 + 1 

and y = x are parallel 

 y = 𝑥2 + 1 بحيث تكون خطوط المماس ل ـ x أوجد قيمة 36)

 متوازيان y = x و

A 12 

B 13 

C 3 

D 2 
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Q37. Which  graph represent the function is differentiable at 𝑥 = 𝑎. 

 
 

ة المعطاة قابلة  أيا من الرسوم البيانية التالية تمثل الدال
𝑥للاشتقاق عند   = 𝑎 

A 

Graph2 

B 

Graph1 

C 

Graph4 

D 

Graph3 

Q38. 

 

التالية في الأوقات  افترض أن العداء وصل إلى المسافات 
 . كما في الجدول الموضح جانبا المحددة

 من زمن الانطلاق  6 الثانية سرعة العداء عندقدر  

A 

35.7 

B 

35.1 

C 

30.4 

D 

37.1 

Q.39 Find the derivative of 𝑓(𝑥) at 𝑥 = 0 for the given function. 

 

𝑥عند النقطة   𝑓(𝑥)اوجد مشتق الدالة      = للدالة    0
 المعطاة. 

A 

2 

B 

3 

C 

0 

D 

DNE(غ.م) 
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Q40.Use the graph of 𝑓′(𝑥) to determine the graph of 

the original function 𝑓(𝑥). 

 

لايجاد الرسم البياني للدالة الاصلية    fاستخدم الرسم البياني لمشتق الدالة  𝑓(𝑥)  .ًكما موضح في الشكل المرسوم جانبا 

 
A 

(b) 

B 

(c) 

C 

(d) 

D 

(a) 

Q41.

 

 موجودة.    𝑓′(0) اوجد جميع الاعداد أ و ب والتي من اجلها تكون     

A 𝑎 = 2, 𝑏 = 1 

B 𝑎 = 2, 𝑏 = 0 

C 𝑎 = 0, 𝑏 = 1 

D 𝑎 = −2, 𝑏 = 1 

Q42.Determine the values of 𝑥 for which the slope of 

the tangent line to 𝑦 = 𝑓(𝑥) does not exist. 𝑓(𝑥) = |𝑥2 + 5𝑥 +   .y = f (x) ل ـ المماس خط  ميل يكون عندها التي  x قيم  أوجد |4

 غير موجود. 

A 𝑥 = −1, 𝑥 = −4 

B 𝑥 = 1, 𝑥 = 4 

C 𝑥 = 0, 𝑥 = 2 

D 𝑥 = −1, 𝑥 = 2 



                            Final Review a bout final exam 12 Advanced-T1-2021.2022.  

                               Shakhbout Bin Sultan School. T. Khalil Al Ahmad 0556801059 

Do not forget to read the question more than onetime and leave the difficult question later. 

12 

 

 

 

 

 

 

 

Q43.Determine the values of 𝑥 for which the slope of 

the tangent line to 𝑦 = 𝑓(𝑥) does not exist. 𝑓(𝑥) = |𝑥 +   .y = f (x) ل ـ المماس خط  ميل يكون عندها التي  x قيم  أوجد |2

 غير موجود. 

A 

2 

B 

-2 

C 

0 

D 

1 

Q44.Determine the values of 𝑥 for which the slope of 

the tangent line to 𝑦 = 𝑓(𝑥) does not exist. 𝑓(𝑥) = 𝑥23 

  .y = f (x) ل ـ المماس خط  ميل يكون عندها التي  x قيم  أوجد

 غير موجود. 

A 

1 

B 

-2 

C 

0 

D 

3 

Q45.Determine the values of 𝑥 for which the slope of 

the tangent line to 𝑦 = 𝑓(𝑥) does not exist. 𝑓(𝑥) = √𝑥3 = 𝑥13 

  .y = f (x) ل ـ المماس خط  ميل يكون عندها التي  x قيم  أوجد

 غير موجود. 

A 

1 

B 

-1 

C 

2 

D 

0 

Q46.Find all values of x for which the tangent lines to 

y = 𝑥3+ 2x + 1 and y = 𝑥4 + 𝑥3 + 3 are parallel 

 والتي يكون عندها خطي المماس للدالتين 𝑥اوجد جميع قيم   

  𝑦 = 𝑥3 + 2𝑥 + 1 𝑎𝑛𝑑 𝑦 = 𝑥4 + 𝑥3 + 3 
 متوازيان.       

A √232  

B 1√23  

C √23
 

D −√23
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Q47.Find a second-degree polynomial (of the form a𝑥2 

+ bx + c) 

such that  f (0) = −2, 𝑓′ (0) = 2 and 𝑓′′ (0) = 3. 

𝑎𝑥2   اوجد كثير الحدود من الدرجة الثانية من الشكل  + 𝑏𝑥 + 𝑐        
𝑓(0)حيث   = −2, 𝑓′(0) = 2 𝑎𝑛𝑑 𝑓′′(0) = 3 

A 3𝑥2 + 2𝑥 − 2 

B 32 𝑥2 + 2𝑥 + 2 

C 23 𝑥2 + 2𝑥 − 2 

D 32 𝑥2 + 2𝑥 − 2 

Q48.Find a general formula for the nth derivative 𝑓(𝑛)(x) for 𝑓(𝑥) = 2𝑥 

 اوجد صيغة عامة لايجاد المشتق النوني للدالة المعطاة 

A 𝑓(𝑛) = (−1)𝑛 2𝑛!𝑥𝑛+1 

B 𝑓(𝑛) = (−1)𝑛 3𝑛!𝑥𝑛+1 

C 𝑓(𝑛) = (−1)𝑛 𝑛!𝑥𝑛+1 

D 𝑓(𝑛) = (−1)𝑛 2𝑛!𝑥𝑛  

Q49.find a function with the given derivative 𝑓′(𝑥) = 4𝑥3 

𝑓′(𝑥)اذا علمت ان   𝑓(𝑥)اوجد الدالة الاصلية   = 4𝑥3  

A 𝑥4 

B 𝑥3 

C 4𝑥4 

D 𝑥44  

Q50.find a function with the given derivative 𝑓′(𝑥) = 1𝑥2 

𝑓′(𝑥)اذا علمت ان   𝑓(𝑥)اوجد الدالة الاصلية   = 1𝑥2  

A − 2𝑥𝑥3 

B 1𝑥3 

C 1𝑥 

D − 1𝑥 

Q.51 Find an equation of the tangent line to the 

graph of y = 
𝑥+3𝑥2+1 at x =1 

𝑦للدالة المعطاة      خط المماساوجد معادلة   = 𝑥+3𝑥2+1 عند𝑥 = 1 

A 𝑦 = − 23 (𝑥 − 1) + 2 

B 𝑦 = − 32 (𝑥 − 1) + 2 

C 𝑦 = 23 (𝑥 − 1) + 2 

D 𝑦 = − 23 (𝑥 − 1) − 2 
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Q52. Assume that f and g are differentiable 

with f (1) =−2, 𝑓′ (1) = 3, 

g(1) = 1, and 𝑔′(1) = −2. Find an equation of the 

tangent line to the graph of h(x) = 𝑓(𝑥)𝑔(𝑥)  at x =1 . 

 ل للتفاض قابلة  g و f أن افترض

 

 = h (x) لـ البياني للرسم  المماس  لـخط  معادلة  أوجد  
𝑓(𝑥)𝑔(𝑥) عند       x = 1. 

𝑓(1)حيث   = −2, 𝑓′(1) = 3, 𝑔(1) = 1 𝑎𝑛𝑑 𝑔′(1) = −2 

A 𝑦 = −𝑥 − 1 

B 𝑦 = 𝑥 − 1 

C 𝑦 = −2𝑥 − 2 

D 𝑦 = −𝑥 − 2 

Q53. find a function g such that 𝑔′ (x) = f (x). 𝑓(𝑥) = (𝑥2 + 3)(2𝑥) 

 

A 𝑔(𝑥) = 12 (𝑥2 + 3)2 

B 𝑔(𝑥) = 2(𝑥2 + 3)2 

C 𝑔(𝑥) = (𝑥2 + 3)2 

D 𝑔(𝑥) = 23 (𝑥2 + 3)2 

Q54. Differentiate the following function  𝑓(𝑥) = (𝑥3 − 𝑥)3 

𝑓(𝑥) اوجد مشتق الدالة التالية  = (𝑥3 − 𝑥)3 

A 9𝑥2(𝑥3 − 𝑥)2 

B 3(𝑥3 − 𝑥)2(3𝑥 − 1) 

C 3(𝑥3 − 𝑥)2(3𝑥2 − 1) 

D (𝑥3 − 𝑥)2(3𝑥2 − 1) 

Q55.Use the graph to find  the derivative of  ℎ(𝑥) = 𝑔(𝑓(𝑥))𝑎𝑡 𝑥 = 1 

 

ℎ(𝑥)استخدم الرسم البياني لايجاد مشتق الدالة      = 𝑔(𝑓(𝑥))      عند 𝑥 = 1 

 
A ℎ′(1) = 3 

B 

DNE(غ.م) 

C ℎ′(1) = −2 

D ℎ′(1) = 0 
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Q56. f has an inverse g. Find 𝑔′ (2). 𝑓(𝑥) = √𝑥3 + 2𝑥 + 4 

 𝑔′(2)     اوجد     𝑔(𝑥)معكوس   𝑓(𝑥)إذا كان للدالة  

𝑓(𝑥)إذا علمت ان   = √𝑥3 + 2𝑥 + 4 

A 

2 

B 12 

C 13 

D 

3 

Q57.Find the derivative of the following function. 𝑓(𝑡) = 𝑡2 + 2 cos2 4𝑡 

𝑓(𝑡) اوجد مشتق الدالة التالية  = 𝑡2 + 2 cos2 4𝑡 

A 2𝑡 − 16 cos 4𝑡 sin 4𝑡 

B 2𝑡 − 8 cos 4𝑡 sin 4𝑡 

C 2𝑡 − sin 2𝑡 cos 2𝑡 

D 2𝑡 + 4 sin 4𝑡 cos 4𝑡 

Q58.Find the derivative of the following function. 𝑓(𝑥) = sin 𝑥2 tan 𝑥 

𝑓(𝑥) اوجد مشتق الدالة التالية  = sin 𝑥2 tan 𝑥 

A 𝑐𝑜𝑠 𝑥2 tan 𝑥+ sin 𝑥2 sec2 𝑥 

 

B 2𝑥𝑐𝑜𝑠 𝑥2 tan 𝑥− sin 𝑥2 sec2 𝑥 

C −2𝑥𝑐𝑜𝑠 𝑥2 tan 𝑥+ sin 𝑥2 sec2 𝑥 

D 2𝑥𝑐𝑜𝑠 𝑥2 tan 𝑥+ sin 𝑥2 sec2 𝑥 

Q59. Find the following limit limx→0 sin 6xsin 5x 

lim𝑥→0 اوجد النهاية التالية:  sin 6𝑥sin 5𝑥 

A 56 

B 65 

C 

0 

D 

1 

Q.60 For  f (x) = sin 2x, find 𝑓(75)(𝑥).  مشتق الدالة التالية اوجد 
f (x) = sin 2x,  𝑓(75)(𝑥) 

A 𝑓(75)(𝑥) = 275 cos 2𝑥 

 

B 𝑓(75)(𝑥) = 275 sin 2𝑥 

 

C 𝑓(75)(𝑥) = −275 cos 2𝑥 

 

D 𝑓(75)(𝑥) = −275 sin 2𝑥 
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Q61. Differentiate the following function. 𝑓(𝑥) = cos 𝑥 ln(𝑥2 + 1) 

 

𝑓(𝑥) اوجد مشتق الدالة التالية:  = cos 𝑥 ln(𝑥2 + 1) 

 

A − sin 𝑥 ln(𝑥2 + 1)+ 2𝑥𝑥2 + 1 cos 𝑥 

B − sin 𝑥 ln(𝑥2 + 1) + 𝑐𝑜𝑠𝑥 

C sin 𝑥 ln(𝑥2 + 1) + 𝑐𝑜𝑠𝑥𝑥2 + 1 

D − sin 𝑥 ln(𝑥2 + 1) + 𝑥𝑐𝑜𝑠𝑥𝑥2 + 1 

Q.62 Differentiate the following function 𝑓(𝑥) = 𝑒2𝑥 cos 4𝑥 

𝑓(𝑥) اوجد مشتق الدالة التالية:  = 𝑒2𝑥 cos 4𝑥 

 

A 2𝑒2𝑥 cos 4𝑥 − 4𝑒2𝑥 sin 4𝑥 

B 2𝑒2𝑥 cos 4𝑥 − 4𝑒𝑥 sin 4𝑥 

C 𝑒𝑥 cos 4𝑥 − 4𝑒2𝑥 sin 4𝑥 

 

D 2𝑒2𝑥 cos 4𝑥 + 4𝑒2𝑥 sin 4𝑥 

Q63. Differentiate the following function 𝑓(𝑥) = 2𝑒𝑥
 

 

𝑓(𝑥) اوجد مشتق الدالة التالية:  = 2𝑒𝑥
 

 

A 𝑒𝑥2𝑒𝑥
 

B 𝑒𝑥2𝑒𝑥𝑙𝑛2 

C 𝑒𝑥𝑙𝑛2 

 

D 𝑒𝑥2𝑒𝑥𝑙𝑛2 + 1 

Q64.  The value of an investment at time t is given 

by v(t). Find the instantaneous percentage rate of change. 𝑣(𝑡) = 60𝑒−0.2𝑡 

 tيتم إعطاء قيمة الاستثمار في الوقت 

 . اللحظي لتغييرا لمعدل. أوجد النسبة المئوية  v (t)بواسطة  

A 

0.2 

B 

1.2 

 

C 

-1.2 

 

D 

-0.2 

 

Q.65 Abacterial population starts at 200 and triples every day. Find a 

formula for the population after t days and find the percentage 

rate of change in population. 

ويتضاعف ثلاث مرات كل يوم. إعثر  200يبدأ عدد البكتيريا البكتيرية من 
 على

 أيام وإيجاد النسبة المئوية  tصيغة للسكان بعد 

 ير في السكان. معدل التغي 

A 𝑝(𝑡) = 200(3)𝑡−1 𝑝′(𝑡)𝑝(𝑡) = ln 3 

 

B 𝑝(𝑡) = 200(3)3𝑡−1 𝑝′(𝑡)𝑝(𝑡) = 200 ln 3 

 

C 𝑝(𝑡) = 200(3)𝑡+1 𝑝′(𝑡)𝑝(𝑡) = ln 200 

 

D 𝑝(𝑡) = 200(3)3𝑡 𝑝′(𝑡)𝑝(𝑡) = ln 6 
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Q66.  The concentration of a certain chemical after t 

seconds of an 

autocatalytic reaction is given by c(t) = 
109𝑒−10𝑡+2 

 show that the concentration 

of the chemical never exceeds 5. 

 

 ثانية من  tتركيز مادة كيميائية معينة بعد 

 = c(t)       يتم إعطاء التفاعل التحفيزي التلقائي ب
109𝑒−10𝑡+2    

 . 5تركيزالمادة الكيميائية لا تتجاوز   تبين أن  أن :والمطلوب 

A lim𝑥→0− 109𝑒−10𝑡 + 2 = 5 

 

B lim𝑥→0+ 109𝑒−10𝑡 + 2 = 5 

 

C lim𝑥→∞ 109𝑒−10𝑡 + 2 = 10 

 

 

D lim𝑥→∞ 109𝑒−10𝑡 + 2 = 5 

 

 

Q.67 Use logarithmic differentiation to find the 

derivative. 𝑓(𝑥) = 𝑥sin 𝑥 

𝑓(𝑥) استخدم الاشتقاق اللوغاريثمي لايجاد مشتق الدالة التالية  = 𝑥sin 𝑥 

A 𝑥sin 𝑥(cos 𝑥 𝑙𝑛 𝑥 + 1𝑥) 

 

 

B 𝑥sin 𝑥(cos 𝑥 𝑙𝑛 𝑥 + ln 𝑥𝑥 ) 

 

 

C 𝑥sin 𝑥(cos 𝑥 𝑙𝑛 𝑥 + cos 𝑥𝑥 ) 

 

 

D 𝑥sin 𝑥(cos 𝑥 𝑙𝑛 𝑥 + sin 𝑥𝑥 ) 

 

Q68.Find the derivative 𝑦′(𝑥) implicitly. 𝑥2𝑦2 + 3𝑦 = 4𝑥 

 

ً    𝑦′(𝑥)اوجد المشتقة   𝑥2𝑦2 ضمنيا + 3𝑦 = 4𝑥 

 

A 4 − 2𝑥𝑦22𝑥2𝑦 + 3 

 

B 4 − 2𝑥𝑦2𝑥2 + 3 

 

 

C 4 − 2𝑦2𝑥2𝑦 + 3 

 

 

D 4 + 2𝑥𝑦2𝑥2𝑦 + 3 

 

 

Q69. Find the second derivative 𝑦′′(𝑥) 𝑦2 = 𝑥3 − 6𝑥 + 4 cos 𝑦 

ً    𝑦′′(𝑥)اوجد المشتقة   𝑦2 ضمنيا = 𝑥3 − 6𝑥 + 4 cos 𝑦 

A 𝑦′′ = 6𝑥 − 𝑦′2 cos 𝑦 − 2𝑦′22𝑦 + 4 sin 𝑦  

 

B 𝑦′′ = 6𝑥 − 4𝑦′2 cos 𝑦 − 2𝑦′22𝑦 + 4 sin 𝑦  

C 𝑦′′ = 6𝑥 − 4𝑦′2 cos 𝑦 + 2𝑦′2𝑦 + 4 sin 𝑦  

D 𝑦′′ = 6𝑥 − 4𝑦′2 cos 𝑦 − 2𝑦′22𝑦 − 4 sin 𝑦  

 

Q.70 Find the derivative of the given function. 𝑓(𝑥) = sin−1(𝑥2 + 1) 

𝑓(𝑥) اوجد مشتق الدالة المعطاة  = sin−1(𝑥2 + 1) 

A 2√1 − (𝑥2 + 1)2 

B 2𝑥√(𝑥2 + 1)2 − 1 

C 2𝑥√1 − (𝑥2 + 1)2 

D 2𝑥√1 + (𝑥2 + 1)2 
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Q71. What is the derivative of the following function? 𝑑𝑑𝑥 (cos−1( 2𝑥)) 

𝑑𝑑𝑥 التالية: ما هو مشتق الدالة  (cos−1( 2𝑥)) 

A −2𝑥2√𝑥2 + 4 

 

B 2𝑥√𝑥2 − 4 

 

C −2𝑥2√𝑥2 + 1 

 

D −2𝑥√𝑥2 − 4 

 

Q72.compute the slope of the tangent line at the 

given point both explicitly 𝑥2 + 4𝑦2 = 8 𝑎𝑡 (2,1) 

 ً 𝑥2 احسب ميل خط المماس عند النقطة المحددة للمنحنى المعطى ضمنيا + 4𝑦2 = 8 𝑎𝑡 (2,1) 
A − 14 

 

B −2 

 

C − 13 

 

D − 12 

Q73.  
compute the slope of the tangent line at the 

given point both explicitly 𝑦 − 3𝑥2𝑦 = cos 𝑥  𝑎𝑡 (0,1) 

 

 ً 𝑦 احسب ميل خط المماس عند النقطة المحددة للمنحنى المعطى ضمنيا − 3𝑥2𝑦 = cos 𝑥  𝑎𝑡 (0,1) 

 

A 

0 

B 

1 

 

C 

-1 

 

D 

-2 

 

Q.74 Find the derivative of the following function 𝑓(𝑥) = 4 sec−1(𝑥4)  

𝑓(𝑥) اوجد مشتق الدالة التالية   = 4 sec−1(𝑥4) 

A 16𝑥3𝑥2√𝑥4 − 1 

 

 

B 16𝑥4|𝑥4|√𝑥4 − 1 

 

 

C 4𝑥3|𝑥4|√𝑥4 − 1 

 

 

D 16x√𝑥8 − 1 
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1 D 48 A 

2 A 49 A 

3 A 50 D 

4 D 51 B 

5 A 52 A 

6 B 53 A 

7 A 54 C 

8 B 55 A 

9 A 56 A 

10 C 57 A 

11 A 58 D 

12 C 59 B 

13 A 60 A 

14 C 61 A 

15 C 62 A 

16 B 63 B 

17 C 64 D 

18 A 65 A 

19 A 66 D 

20 A 67 D 

21 A 68 A 

22 D 69 B 

23 C 70 C 

24 C 71 B 

25 A 72 D 

26 B 73 A 

27 A 74 D 

28 A   

29 D   

30 D   

31 D   

32 A   

33 A   

34 B   

35 A   

36 A   

37 B   

38 B   

39 D   

40 C   

41 B   

42 A   

43 B   

44 C   

45 D   

46 B   

47 D   
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